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Using properties of determinants, show that AABC 1s isosceles if :
1 I 1
14+ cosA - 1+cosB 1+cosC |=0
cos?A +cosA cos®B + cosB cos2C + cosC

OR

A shopkeeper has 3 varieties of pens ‘A’, ‘B’ and {C’. Meenu purchased 1 pen

of each variety for a total of ¥ 21. Jeevan purchased 4 pens of ‘A’ variety,
3 pens of ‘B’ variety and 2 pens of ‘C’ variety for ¥ 60. While Shikha purchased
6 pens of ‘A’ variety, 2 pens of ‘B’ variety and 3 pens of ‘C’ variety for ¥ 70.
Using matrix method, find cost of each variety of pen.
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There are two types of fe ﬁ B 1sts of 12% nitrogen and
5% phosphorlc acxng cons1 trogen and 5% phosphoric acid.
After te o1l co grmer f1nds that he needs at least 12 kg of

nitrogen and 12 kg of p phorlc acid for his crops. If ‘A’ costs ¥ 10 per kg
and ‘B’ cost ¥ 8 per kg, then_ graphically determine how much of each type of
fertiliser should be used so that nutrient requirements are met at a minimum
cost. |

 fig P, R feafn TRew 27 +37 +4k £ W .27 47 +8K)—26=0 W

@%Wﬂw%qlquwﬁrmamwﬁﬂm FfTl 7@ & P
yidfers o} 9 wifsC |

Find the position vector of the foot of perpendicular and the perpendicular

! i A A A
distance from the point P with position vector 2i +3j +4k to the plane

T, (2;\ +;'\ + 32) —26=0. Also find image of P in the plane.
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